Efficiency vs P,

0.2

0.18
0.16
0.14
0.12

0.1
0.08
0.06
0.04
0.02

................................................

[y

TTTT] T T
H L
+
e
T

0.2

107 1 10 10? 10°

—=— DQM_TT__mkFit-DQM_pless_orig
—— DQM_TT__mkFit-DQM_pless_modi2

0.18
0.16
0.14
0.12

0.1

0.08
0.06)

0.04f -
0.02fr--

Vs

...........................................

TTTTTTL]
=l
===
- :
==
—
= .
o :
- :
e wms
=
— N

_—

o
©
Ll

T
|

N
|

N

-

N

w

Efficiency vs ¢

0.05

0.045
0.04
0.035
0.03
0.025
0.02
0.015

0.0L g+ |1

T T T T T[T I T T T TIT




	Contents
	Page 1


